K3A2:
Hello you all! 
This week we are going to finish the USA and we are also going to start a new grammar topic. And that is so called VERB PATTERNS (slovesné vzorce)
Zde: prezentace UK pro zájemce: https://drive.google.com/file/d/1bJZ-lxPk2yGql_DXEYZVbhlDVUMXYeaD/view?usp=sharing
(Slovesné vzorce jsme již dělali – jedná se o jev, kdy se objeví 2 slovesa za sebou. Např. John zvládl dokončit svoji úlohu. John managed to finish his homework. Určitě si vzpomínáte, že když druhé sloveso v pořadí je buď ve tvaru infinitivu anebo v tzv. – ing tvaru. Existuje nějaké pravidlo? No…minimálně. Musíte se to naučit.)

1) Study the table with verbs (page 110 in your textbook, the upper left corner) and study the negative cases as well.
Complete the sentences in exercise 1 (just below the table)

2) Now, let’s make it even more complicated!  Study the section 1.5. – Verbs that change their meaning (still the page 110)
(jsou slovesa, která mění svůj význam podle toho, jestli se pojí s infinitivem nebo – ING. To budeme probírat, ale zatím si nastudujte pravidla. Jedná se o slovesa remember, forget, stop, try.)
Do the exercise 1 and 2 (still the page 110)
Teorii najdete i zde:
https://www.helpforenglish.cz/article/2012102404-remember-to-lock-vs-remember-locking
https://www.helpforenglish.cz/article/2012092407-try-to-open-vs-try-opening-verb-patterns
https://www.helpforenglish.cz/article/2013030501-stop-smoking-vs-stop-to-smoke

3) Writing. Answer the questions in exercise 2. Use full sentences.

4) The USA versus The Czech republic. Which country has the better quality of life? What do you think? For those who are interested:

https://www.youtube.com/watch?v=XgHMmimI0C4


